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ZHRAX GMSK (F1D) AR AFSK (F2D) ZHRAR CW(ATA) FRAR AFSK(F2D) ZHRAR GMSK (F1D)
FEBTTT E/R—IToTT FTHETVTT E/R—INToTT FEBTVTT E/R—ILToTT hERTTT IJRRANKRTTT FEBTVTT E/R—INToTT
NESE HIkm] 400 ESE Hlkm] 400 EESE Hlkm] 400 EEEE HIkm] 400 EESE Hlkm] 400
HhERFZ R[km] 6378.142 HhEREF R[km 6378.142 HhEREZ R[km 6378.142 HhEREF R[km] 6378.142 HhEREF R[km 6378.142
ILR—av AR 6 ci[deg] 5| |[ZLA—varEE 6 ¢ [deg] 5| [zLR—carAE 0 ¢ [dee] 5| |ITLA—a Ak 0 g [deg] 5 ILA—vav AR 0 er[deg] >
0 g [rad] 0.087 0 g [rad] 0.087 0 ¢ [rad] 0.087 0 g [rad] 0.087 0 ¢ [rad] 0.087
Al AR R A E 6 [rad] 0.268 A tRERBE 6 [rad] 0.268 Al tRRR R A 6 [rad] 0.268 A tRR R A E G [rad] 0.268 Al tRR R BE 6 [rad] 0.268
0 [deg] 15.380 0 [deg] 15.380 0 [deg] 15.380 0 [deg] 15.380 0 [deg] 15.380
ACEREE D[km] 1804.517 AGERERE D[km] 1804.517 ACREE D[km] 1804.517 EAMEREERE D[km] 1804.517 BREEREER D[km] 1804.517
ERDIGBEE c[m] 3.0E+08 EREDGEHREE c[m] 3.0E+08 ERDGHREE c[m] 3.0E+08 ERDIGBEE c[m] 3.0E+08 ERDGHREE c[m] 3.0E+08
RILYT AR k[W/Hz"K] 1.38E-23 RILY T AR k[W/Hz-K] 1.38E-23 RILYT AR k[W/Hz-K] 1.38E-23 RILYT IR k[W/Hz-K] 1.38E-23 RILYT AR k[W/Hz-K] 1.38E-23
[ == ZER = = ==
EIHERE fMHz] 145 EIEHEREN f[MHz] 145 EXHEREA f[MHz] 145] [EERKE fIMHz] 435 EXHEREA f[MHz] 435
EE #.én'in' H P [W] 0.8 EIEHE A P [W] 0.8 FIERE N Py [W] 0.8 FiEREH Prx[W] 50 FIERE SN Py [W] 50
Py [dBW] -0.969 P, [dBW] -0.969 Px[dBW] —0.969 P, [dBW] 16.99 Py [dBW] 16.99
FIERTEL Lerx[dB] -05 FIEREIEL Lery[dB] -05 FIERTIEL Lerx[dB] -0.5 EEREEL Lerx[dB] -0.5 FIERTIEL Lerx[dB] -0.5
FEIETUTHFIE Gax[dB] 0 FEET7UTTHHE Garx[dB] 0 FEIETUTTHHE Garx[dB] 0 RET7UTTE Gax[dB] 0 FEIETUTTHHE Garx[dB] 0
EITHRSTEEEIRP Pe[dBW] -1.47 E{THRSTEEEIRP Pe[dBW] -1.47 EITIRETEEEIRP P:[dBW] -1.47 E1THRSTEEEIRP P[dBW] 16.49 E1THRSTEEEIRP P:[dBW] 16.49
RETUTIRAL T4 8 Lap[dB] -2 BETUTIRAL T4 185 Lar[dB] -2 BIETUTFRAL T4 8 {LapldB] -2l RETVTFRAUT12 518 Lar[dB] -2 BIETUTFRAL T4 8 {LapldB] -2
(B3 [RiE3E [Ri:i57E [R5k [T
HHZEHIEX L4[dB] -140.80 BHEZTHIEX L4[dB] -140.80 BHEZTHEX L4[dB] -140.80 BHZEMIEX L4[dB] -150.34 EEEGEEES Ly[dB] -150.34
fREIEX Lp[dB] -3 RRE X Lp[dB] -3 {RIRE L Lp[dB] -3 RiEEX Lp[dB] -3 fRIRIEX Lp[dB] -3
PN TEEES La[dB] 0 PN TEES La[dB] 0 AERIRIEX La[dB] 0 PN EES La[dB] 0 AERIRIEX La[dB] 0
ERTEES LgaldB] 0 EREEES Lra[dB] 0 ERTEES LgaldB] 0 SRS LraldB] 0 ESTEES LpaldB] 0
BEEX Ly[dB] 0 BEEX Ly[dB] 0 fHEEX Ly[dB] 0 KiEEX Ly[dB] 0 fHEEX Ly[dB] 0
[BHEEESHN L, [dB] -14380]  |ImERHEXAE L, [dB] -14380] |EEEEXEE Ly, [dB] -14380] |{EiBEHEXAE Ly [dB] -153.34 (=EEELSH L, [dB] -153.34
TR BLR ) EZ5] TR
ZFETFTT HJORNKRTOTF ZETFTT HORNKRTOTT ZETFUTT SJARNRTTT ZETFTT E/R—=ITTTF SEF7UTT IJRRANRTUTT
ZETUTFRAL T4 182 Lap [dB] 0 ZETUTFRAL T4 185 Lap[dB] 0 SETFUTFRAV T4 18] L4 [dB] 0 RETUTHRAL T4 18Lan[dB] 0 ZIETUTFHRAL T4 18 ]{LapldB] 0
RIETUTHHE Garx[dB] 16.2 RETUTHHE Garx[dB] 16.2 RETUTHE Grx[dB] 16.2 RETOTHHE Garx[dB] 1.27 RETUTHIE Grx[dB] 16.2
ZEHRERL LFRX[dB] -0.5 ZEHREIEL LFRX[dB] -0.5 ZIEHREERL LFRX[dB] -0.5 ZIEREIEL LFRX[dB] 0 ZIEHREERL LFRX[dB] -0.5
famiak L[-] 1.12 HnEEX L[-] 1.12 HwEEL L[-] 1.12 #HEEL L[-] 1.00 taEiak L[-] 1.12
ZELANIL C[dBW] -127.57 ZELRIL C[dBW] -127.57 ZELXNIL C[dBW] -127.57 ZELRIL C[dBW] -133.58 ZELXNIL C[dBW] -119.15
TOTTHERE TAlK] 300 TUOTTHEERE TAK] 300 TUOTTHERE TAlK] 300 TUOTTHHERE TAlK] 300 FUTTHERE TAlK] 300
HERESERE TelK] 300 HERESERE TelK] 300 HERESRE TelK] 300 HERETERE TelK] 300 HERESRE TelK] 300
ZEMETRE TelK] 300 ZERMERE TelK] 300 ZEMBTRE TelK] 300 ZERETRE TelK] 300 ZEMBTRE TelK] 300
ZEHREFERE To[K] 300 ZEREFERE TolK] 300 ZIEREEERE To[K] 300 ZEREFERE To[K] 300 ZEREERE To[K] 300
HEER nf[-] 1.05 HEIEHR nfl-] 1.05 HEER nf[-] 1.05 HEEHK nf[-] 1.05 HERHR nf[-] 1.05
NF[dB] 0.21 NF[dB] 0.21 NF[dB] 0.21 NF[dB] 0.21 NF[dB] 0.21
SATLMERE Ts[K] 315 SATLMERE T4[K] 315 SATLHERE T4[K] 315 AT LHBERE TslK] 315 SATLEEEE T4[K] 315
hFRRE TglKI 300 hREE TglKI 300 hEREE TglKI 300 thRBE TglKI 300 hEREE TglKI 300
:Ltﬁ,,ml# T.[K] 286 TR E T.[K] 286 THEE T.[K] 286 $i41,,mJ# T.[K] 286 $i’3,ml# T.K] 286
KRB EEEMS TskvlK] 0 REMHTEEEMND TsiylK] 0 REHTBEEEMNS TsivrlK] 0 REH S BEEEMNS TskvlK] 0 REMTEEEND TsivrlK] 0
a-jdnmﬁui‘ph“m% BlkHz] 15 RAEE@EB/AVRIE BlkHz] 15 BAEE @B/ R B[kHz] 15 Hij(1=’?)ﬁﬁ/<>|:mg B[kHz] 15 xﬂnﬁﬁﬁ/i‘ylﬂlﬁ B[kHz] 15
HES N[W] 6.52E-17 HES N[W] 6.52E-17 HES N[W] 6.52E-17 ¥EE NIW] 6.52E-17 HES N[W] 6.52E-17
N[dBW] —1.62E+02 N[dBW] —1.62E+02 N[dBW] —1.62E+02 N[dBW] —1.62E+02 N[dBW] —1.62E+02
EENEE NyLdBW] 204E+02| [HEBARE Ny[dBW] —2.04E+02 BENEE No[dBW] —2.04E+02|  EEFBAEE No[dBW] ~2.04E+02 EENEE No[dBW] ~2.04E+02
ZETAY G[dB] 15.7 ZEFA G[dB] 15.7 ZEFAY G[dB] 15.7 ZETFA G[dB] 1.27 SZETA G[dB] 15.7
[ZEG/T G/T[dB/K] -9.3 [ZEG/T G/T[dB/K] -9.3 [ ZEG/T G/T[dB/K] -93| [ZfEGT G/T[dB/K] -23.7 | ZEG/T G/T[dB/K] -9.3
Implementation Loss Estimate |LpldB] 1 Implementation Loss Estimate |LpldB] 1 Implementation Loss Estimate [LpldB] 1 Implementation Loss Estimate |Lp[dB] 1 Implementation Loss Estimate [LpldB] 1
h E BREEEX Lo[dB] 0 #hEBNEEEX Lg[dB] 0 #h EBREEEX LgldB] 0 FHENEGEEX Lo[dB] 0 #h EBREEEX LgldB] 0
it HAERIEX Lo[dB] 0 h E HOEREX Lo[dB] 0 i E HLEREX Lo[dB] 0 FHELEREX Lo[dB] 0 i E BLEREX Lo[dB] 0
EvkL—k B,.[bps] 9,600 EvkL—F B,s[bps] 1200 EvkL—k B,s[bps] 26.7 EvkL—Fk B,s[bps] 1,200 EvkL—k B,[bps] 38,400
B,.[dBHz] 39.82 B,s[dBHz] 30.79 B,.[dBHz] 14.27 B,.[dBHz] 30.79 B,.[dBHz] 45.84
S UES P, 1.E-05 [N UES P, 1.E-05 [ UES P, 1.E-05 [N UES P, 1.E-05 [ UES P, 1.E-05
ZIEC/N, (ZIEEH/HEEAH|C/N,[dB] 76.05 ZIEC/Ny (ZIEEH/MEEH|C/N[dB] 76.05 Z{EC/N, (RIEE 1/ S FE]C/Ny[dB] 76.05 ZIEC/N, (ZIEE S/ HEE]C/NydB] 70.04 FIEC/N, (ZIEEH/ S E]C/Ny[dB] 84.47
EEI (Ey/No),eqldB] 9.6 FERE,/N, (Ey/No),eq[dB] 23.2 ERE,/N, (Ey/No),eq[dB] 23.2 ERE,/N, (Ey/No),q[dB] 23.2 FERE,/N, (Ey/No),eq[dB] 23.2
FE3RKC/N, (C/Ng)yeldB] 50.42 E3RC/N, (C/Ng)yeqldB] 54.99 E3RC/N, (C/Ng),eqldB] 38.47 ERC/N, (C/Ng)yeldB] 54.99 E3RC/N, (C/Ng),eqldB] 70.04
Gl —>r M[dB] 25.63 [ M[dB] 21.06 Rz —>r M[dB] 37.59 Gl —>r M[dB] 15.05 Rz —> M[dB] 14.43




